Form 604

Corporations Act 2001 Section 671B

Notice of change of interests of substantial holder

To Company Name/Scheme	CENTAURUS METALS LIMITED		
ACN/ARSN	009 468 009		
1. Details of substantial holder(1)			
Name	MCCUSKER HOLDINGS PTY L	TD	
ACN/ARSN (if applicable)	009 466 586		
There was a change in the interests of t substantial holder on	nhe <u>02/02/22</u>		
The previous notice was given to the co			
The previous notice was dated	08/02/21		

2. Previous and present voting power

The total number of votes attached to all the voting shares in the company or voting interests in the scheme that the substantial holder or an associate (2) had a relevant interest (3) in when last required, and when now required, to give a substantial holding notice to the company or scheme, are as follows:

Class of securities (4)	Previous notice	Previous notice		
	Person's votes	Voting power (5)	Person's votes	Voting power (5)
FPO	22,015,864	6.72%	43,050,000	10.18%

3. Changes in relevant interests

Particulars of each change in, or change in the nature of, a relevant interest of the substantial holder or an associate in voting securities of the company or scheme, since the substantial holder was last required to give a substantial holding notice to the company or scheme are as follows:

Date of change	Person whose relevant interest changed	Nature of change (6)	Consideration given in relation to change (7)	Class and number of securities affected	Person's votes affected

4. Present relevant interests

Particulars of each relevant interest of the substantial holder in voting securities after the change are as follows:

Holder of relevant interest	Registered holder of securities	Person entitled to be registered as holder (8)	Nature of relevant interest (6)	Class and number of securities	Person's votes

5. Changes in association

The persons who have become associates (2) of, ceased to be associates of, or have changed the nature of their association (9) with, the substantial holder in relation to voting interests in the company or scheme are as follows:

Name and ACN/ARSN (if applicable)	Nature of association	
NIA	NA	

6. Addresses

The addresses of persons named in this form are as follows:

Name	Address				
	Po	Box	3448	Broadway	Nedlands WY 6999
				j	

Signature

print name MALCOLM MCCUSKER

capacity DMedon

sign here

date 2 / 2 / 2

DIRECTIONS

- (1) If there are a number of substantial holders with similar or related relevant interests (eg. a corporation and its related corporations, or the manager and trustee of an equity trust), the names could be included in an annexure to the form. If the relevant interests of a group of persons are essentially similar, they may be referred to throughout the form as a specifically named group if the membership of each group, with the names and addresses of members is clearly set out in paragraph 6 of the form.
- (2) See the definition of "associate" in section 9 of the Corporations Act 2001.
- (3) See the definition of "relevant interest" in sections 608 and 671B(7) of the Corporations Act 2001.
- (4) The voting shares of a company constitute one class unless divided into separate classes.
- (5) The person's votes divided by the total votes in the body corporate or scheme multiplied by 100.
- (6) Include details of:
 - (a) any relevant agreement or other circumstances because of which the change in relevant interest occurred. If subsection 671B(4) applies, a copy of any document setting out the terms of any relevant agreement, and a statement by the person giving full and accurate details of any contract, scheme or arrangement, must accompany this form, together with a written statement certifying this contract, scheme or arrangement; and
 - (b) any qualification of the power of a person to exercise, control the exercise of, or influence the exercise of, the voting powers or disposal of the securities to which the relevant interest relates (indicating clearly the particular securities to which the qualification applies).

See the definition of "relevant agreement" in section 9 of the Corporations Act 2001.

- (7) Details of the consideration must include any and all benefits, money and other, that any person from whom a relevant interest was acquired has, or may, becom'e entitled to receive in relation to that acquisition. Details must be included even if the benefit is conditional on the happening or not of a contingency. Details must be included of any benefit paid on behalf of the substantial holder or its associate in relation to the acquisitions, even if they are not paid directly to the person from whom the relevant interest was acquired.
- (8) If the substantial holder is unable to determine the identity of the person (eg. if the relevant interest arises because of an option) write "unknown".
- (9) Give details, if appropriate, of the present association and any change in that association since the last substantial holding notice.

AsxCode	Order	Type Settlement Date	Price	Quantity	Consideration
СТМ	Buy	3/02/2022	1.1449	550000	630146.14
CTM	Buy	31/01/2022	1.1024	900000	992178
CTMXX	Buy	31/01/2022	1.16	3000000	3480000
CTM	Buy	25/01/2022	1.1626	1300000	1511317.6
CTM	Sell	17/01/2022	1.3575	2000000	2715000
CTM	Sell	17/01/2022	1.4081	75000	105501.71
CTM	Buy	14/01/2022	1.3029	500000	651430
CTM	Buy	14/01/2022	1.32	50000	66065.34
CTM	Buy	12/01/2022	1.095	25000	27402.1
CTM	Buy	11/01/2022	1.0878	100000	108884.06
CTM	Buy	7/01/2022	1.0874	100000	108738.7
CTM	Buy	7/01/2022	1.0901	250000	272791.53
CTM	Buy	6/01/2022		150000	165112.35
CTM	Buy	4/01/2022		100000	110745.48
CTM		29/12/2021			342181.2
CTM	Buy	23/12/2021			782708.5
	Buy				55004.41
CTM CTM	Buy	24/12/2021			164761.93
	Buy	23/12/2021 22/12/2021			
CTM	Buy	• • •			167308.27
CTM	Buy	21/12/2021			229555.27
CTM	Buy	16/12/2021			
CTM	Buy	15/12/2021			
CTM	Buy	15/12/2021			
CTM	Buy	10/12/2021			
CTM	Buy	9/12/2021			
CTM	Buy	8/12/2021			
CTM	Buy	7/12/2021			
CTM	Buy	6/12/2021			
CTM	Buy	3/12/2021			
CTM	Buy	6/12/2021			
CTM	Buy	2/12/2021			
CTM	Buy	1/12/2021			
CTM	Buy	1/12/2021			
CTM	Buy	30/11/2021			
CTM	Buy	25/11/2021			
CTM	Buy	24/11/2021			
CTM	Buy	19/11/2021			
CTM	Buy	22/11/2021			
CTM	Buy	19/11/2021			
CTM	Buy	17/11/2021			
CTM	Buy	16/11/2021			
CTM	Buy	12/11/2023			
CTM	Buy	11/11/2021			
CTM	Buy	10/11/2023			
CTM	Buy	9/11/2023			
CTM	Buy	8/11/202:			
CTM	Sell	15/10/202:			
CTM	Buy	13/10/202:			
CTM	Buy	12/10/202	1 0.9908	3 25000	24794.81

CTM	Buy	7/10/2021	0.985	50000	49250
CTM	Buy	4/10/2021	0.9649	300000	289769.64
CTM	Buy	1/10/2021	0.9605	251152	241476.58
CTM	Buy	30/09/2021	0.9747	148848	145231.87
CTM	Buy	29/09/2021	0.9749	200000	195167.61
CTM	Buy	28/09/2021	0.9785	250000	244637
CTM	Buy	27/09/2021	0.9721	16711	16245.33
CTM	Buy	27/09/2021	0.9642	60000	57906.75
CTM	Buy	24/09/2021	0.9484	80965	76785.75
CTM	Buy	23/09/2021	0.9556	142324	136004.53
CTM	Buy	22/09/2021	0.9521	250000	238022.5
CTM	Sell	1/09/2021	1	250000	250000
CTM	Sell	1/09/2021	1.0084	50000	50364.27
CTM	Buy	31/08/2021	0.9621	300000	288633.6
CTM	Buy	31/08/2021	0.9598	200000	192145.99
CTM	Buy	30/08/2021	0.9709	200000	194380.8
CTM	Buy	26/08/2021	0.9408	87450	82269.9
CTM	Buy	26/08/2021	0.9357	100000	93660.91
	•	25/08/2021	0.9337	11575	10092.4
CTM	Buy	24/08/2021	0.8719	200975	178234.08
CTM	Buy	23/08/2021	0.8808	100000	90248.1
CTM	Buy			50000	45762.27
CTM	Buy	23/08/2021	0.9143		180699.09
CTM	Buy	20/08/2021	0.9026	200000	187718.3
CTM	Buy	19/08/2021	0.9377	200000	
CTM	Buy	18/08/2021	0.9792	50000	49015.15
CTM	Buy	16/08/2021	0.9467	200000	189528.4
CTM	Buy	12/08/2021	0.9429	250000	235956.19
CTM	Buy	11/08/2021	0.9429	200000	188769.34
CTM	Buy	5/08/2021	0.9652	50000	48310.85
CTM	Buy	4/08/2021	0.9495	200000	190106.55
CTM	Buy	3/08/2021	0.9255	100000	92644.87
CTM	Buy	2/08/2021	0.9202	200000	184217.24
CTM	Buy	30/07/2021	0.8461	150000	126908.55
CTM	Buy	19/07/2021	0.815	750000	611250
CTM	Buy	19/07/2021	0.815	750000	611250
CTM	Buy	19/07/2021	0.8172	50000	40900.4
CTM	Buy	16/07/2021	0.7993	150000	120010.43
CTM	Buy	15/07/2021	0.82	100000	82000
CTM	Buy	13/07/2021	0.8117	100000	81248.85
CTM	Buy	9/07/2021	0.8067	150000	121130.03
CTM	Buy	8/07/2021	0.8066	250000	201861.76
CTM	Buy	21/06/2021	0.699	150000	104957.12
CTM	Buy	18/06/2021	0.7105	100000	71115.95
CTM	Sell	16/06/2021	0.7	400000	279692
CTM	Buy	11/06/2021	0.6804	200000	136211.59
CTM	Buy	10/06/2021	0.645	300000	193500
CTM	Buy	10/06/2021	0.6501	100000	65077.73
CTM	Buy	4/06/2021	0.685	900000	616500
СТМ	Buy	4/06/2021	0.6875	155000	106668
CTM	Buy	3/06/2021	0.6899	100000	69056.57
CTIVI	Бау	5,00,2021	0.0055	_00000	

CTM	Buy	2/06/2021	0.7038	170184	119902.48
CTM	Sell	2/06/2021	0.695	20184	14007.93
CTM	Buy	2/06/2021	0.7297	300000	219116.71
CTM	Buy	24/05/2021	0.6915	250000	172879.5
CTM	Sell	18/05/2021	0.7036	20000	14052.48
CTM	Sell	12/05/2021	0.7267	80000	58075.33
CTM	Buy	7/05/2021	0.6757	200000	135295.36
CTM	Buy	30/04/2021	0.6975	145000	101244.41
CTM	Buy	29/04/2021	0.6821	150000	102422.96
CTM	Buy	27/04/2021	0.6714	400000	268549.6
CTM	Buy	23/04/2021	0.6433	150000	96595.54
CTM	Buy	22/04/2021	0.6715	500000	335737
CTM	Buy	22/04/2021	0.6838	100000	68447.69
CTM	Buy	21/04/2021	0.6965	42856	29850,45
CTM	Buy	20/04/2021	0.6973	57144	39846.17
CTM	Buy	20/04/2021	. 0.6932	50000	34693.72
CTM	Buy	19/04/2021	0.6982	150000	104734.95
CTM	Buy	19/04/2021	0.6935	180000	124948.57
CTM	Buy	16/04/2021	0.7066	150000	105982.65
CTM	Buy	14/04/2021	0.6988	200000	139888.36
CTM	Buy	12/04/2021	0.7216	150000	108237.6
CTM	Buy	6/04/2021	0.7015	100000	70154
CTM	Buy	6/04/2021	0.7136	350000	250008.57
CTM	Buy	1/04/2021	0.7366	200000	147323.4
CTM	Buy	31/03/2021	0.8113	520000	422309.8
CTM	Buy	30/03/2021	0.79	32040	25336.66
CTM	Buy	25/03/2021	0.7869	34543	27182.82
CTM	Buy	26/03/2021	0.7633	150000	114613.36
CTM	Buy	25/03/2021	0.7718	100000	77259.68
CTM	Buy	24/03/2021	0.7898	80000	63186.72
CTM	Buy	24/03/2021	0.7942	175000	139116.46
CTM	Buy	23/03/2021	0.7968	29417	23439.52
CTM	Buy	19/03/2021	0.819	100000	81980.25
CTM	Buy	17/03/2021	0.7946	350000	278397.38
CTM	Buy	15/03/2021	0.7492	134450	100724.29
CTM	Buy	11/03/2021	0.715	100000	71500
CTM	Buy	12/03/2021	0.7424	22222	16518.22
CTM	Buy	11/03/2021	0.7286	50000	36469.71
CTM	Buy	11/03/2021	0.7278	300000	218565.27
CTM	Buy	9/03/2021	0.7058	400000	282580.22
CTM	Buy	8/03/2021	0.8018	100000	80176
CTM	Buy	8/03/2021	0.7928	550000	436493.45
CTM	Buy	8/03/2021	0.8377	106040	88833.84
CTM	Buy	5/03/2021	0.847	100000	84778.85
CTM	Buy	4/03/2021	0.851	66288	56408.97
CTM	Buy	4/03/2021	0.865	100000	86585.63
CTM	Buy	3/03/2021	0.8619	56280	48507.28
CTM	Buy	2/03/2021	0.8723	163720	142815.41
CTM	Sell	26/02/2021	0.9	400000	360000
CTM	Sell	24/02/2021	0.8821	50000	44059.95

CTM	Buy	22/02/2021	0.85	150000	127626.23
CTM	Buy	18/02/2021	0.8362	250000	209053
CTM	Buy	17/02/2021	0.8309	300000	249501.86
CTM	Buy	15/02/2021	0.835	950000	793250
CTM	Buy	12/02/2021	0.823	250000	205750
CTM	Buy	15/02/2021	0.8539	100000	85478.01
CTM	Buy	12/02/2021	0.8346	150000	125308.34
CTM	Buy	11/02/2021	0.8214	200000	164280.4
CTM	Buy	11/02/2021	0.8351	350000	292579.75
CTM	Buy	10/02/2021	0.8271	184136	152457.41
CTM	Buy	9/02/2021	0.845	100000	84579.21
CTM	Buy	8/02/2021	0.8694	200000	174047.14
CTM	Buy	4/02/2021	0.8423	225000	189696.31